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5,000& =1,500H 7,500
— AJHX Jt28 Zolatg 7
120,000& = 1804 21,600
—Jti2Z2 =48 Uielstze 7
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20,000,000& =23] 40,000
OAMNX =X <9 HOtstEHES
5,000,000 =8H 2~ 40,000




SN BA=XD
Hu: A=K X4 U B
Solr BEAl R4 (EH9:®e)
SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
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seiza 2e 1,229,794 780,005 449,789
= 150,000
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= 6,168
= 1,472
Al 4,599
401 AlEHIZL 2 0HY| 12,239 2,953 9,286
= 6,168
o= 1,472
Al 4,599
01 Al&H| 12,239 2,953 9,286
Ot =8l (22ha) 12,239,000 « 1Al 12,239
= 6,168
=} 1,472
Al 4,599
MEU 2382 XS 5,000 5,000 0
= 2,500
= 750
Al 1,750
401 AlEHIZ S 0HY| 5,000 5,000 0
= 2,500
& 750
Al 1,750
01 Al& H| 5,000 5,000 0
OMEZR QIZ2ZtE2 HlES KICHANY (2004 )
250,000 x200H A~ 5,000
= 2,500
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Al 1,750
AT THOH L K2l ZD| (A2 S OIS HE) () 1,266 1,540 N2T74
= 632
& 190
Al 444
405 RHoAHFE S HI 1,266 1,540 N2T4
= 632
& 190
Al 444
01 JHAHY 2 E F S H 1,266 1,540 N2T74
OAMtEGH=E &M ZH 220, AI2FDI)
1,266,000 14! 1,266
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= 1,999
< 600
Al 1,399
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